rand(' state', 37);
randn(' state', 37);

% set arbitra
% set arbitrary seed for norma

tic; %start stop watch

% Load & prepare data

M R R R R R R R LR LR
| oad c:\kl aus\ AAEC6564\ nl ab\ wor ksp\ | abor dat a;

e will
%. 51

use Moz's (1987)

% Contents of Data (col ums)

ol
%R
%3
%6
%
%6
o
%8

1975 estimated wage)

%0

%0
%41
%42
%43
%44
%45
%46
o7
%48

f=find(data(:,1)==0);

r uni form draws
dr aws

| abor data described in Greene (5th edition),

LFP = A dunmy variable = 1 if woman worked in 1975, else O
VWHRS = Wfe's hours of work in 1975
KL6 = Nunmber of children less than 6 years old in household
K618 = Number of children between ages 6 and 18 in househol d

WA
V\E

WN= Wfe's average hourly earnings,

Wfe's age
Wfe's educational attainment, in years
in 1975 dol | ars

RPWG = Wfe's wage reported at the time of the 1976 interview (not

HHRS = Husband's hours worked in 1975
HA = Husband' s age

HE = Husband's educational attainnment, in years
HW = Husband's wage, in 1975 dollars
FAM NC = Fam |y incone, in 1975 dollars

WWVED = Wfe's nother's educati ona
WFED = Wfe's father's educati ona

attainment, in years
attainment, in years

UN = Unenpl oynent rate in county of residence, in percentage points.
CIT = Dumy variable = 1 if live in large city (SVBA), else 0

AX = Act ual

data(f,:)=[];

years of w fe's previous |abor

mar ket experience

% we only include wonmen that worked in 1975

y=l og(data(:,2).*data(:,7)); %ependent variable =

wage)

KL6=dat a(:, 3);
K618=dat a(:, 4);

age=data(:,5);
age2=age. "2

edu=dat a(:, 6);

% unber of children under 6
% Nunmber of children between ages 6 and 18 in househol d

Y%ears of education

[ og(hrs worked* hourly




n=l engt h(y);

X=[ones(n, 1) age age2 edu KL6 K618];

X1=X(:, 1:2);
X2=X(:,3:4);
X3=X(:, 5:6);

kl=si ze(X1, 2);
k2=si ze( X2, 2);
k3=si ze( X3, 2);
k=k1+k2+k3;

el ement s
r 1=5000; 9% burn-in
r2=10000; % keepers
R=r 1+r 2;

% gener a

% generic OLS
bol s=i nv(X *X)* X *y;
res=y- X*bol s;
s2=(res' *res)/ (n-k);

% el ements for betal
nmuOl=zeros(kl,1);
VOl=eye(kl)*100;

bet aldr aw=bol s(1: k1) ;

% el ements for beta2
nmu02=zeros(k2, 1);
V02=eye(k2)*100;

bet a2dr aw=bol s(k1+1: k1+k2);

% el ements for beta3
nmu03=zeros(k3,1);
V03=eye(k3)*100;

bet a3dr aw=bol s(kl+k2+1: end);

% el enents for sig2

si g2draw=s2; % use OLS variance as starting draw for G bbs Sanpl er
v0=1/ 2;

tau0=1/2; %diffuse prior shape and scale

[ betalmat, bet a2nmat, bet a3mat, si g2mat] =. ..




gs_nor mal _bl ocked( X, X1, X2, X3, vy, n, k, k1, k2, k3,r1,r2, nru0l1, V01, bet aldraw, . .
mu02, V02, bet a2dr aw, mu03, VO3, bet a3dr aw, vO, t au0, si g2dr aw) ;

' GS done'

% put all draws together & run diagnostics
al | mat =[ bet almat ; bet a2nat ; bet a3mat ; si g2mat | ;
kdi ag=kl ausdi agnosti cs_greaterO(al |l mat);

[fid]=fopen('c:\klaus\ AAEC6564\ nl ab\ | ogs\ nod2_bl ocking.txt','w);
if fid==-1
warning(' File could not be opened');
return
el se
di sp(' Fil e opened successfully');
end

fprintf(fid, total nunber of iterations =\t%.0f \n',R);
fprintf(fid, burn-initerations =\t%.0f \n',rl);
fprintf(fid, '\n');

fprintf(fid, OLS betas \t%. 3f\n', bol s);
fprintf(fid, OLS s2 \t%. 3f\n', s2);
fprintf(fid, '\n');

fprintf(fid, '\n');

% beta stuff

out =kdi ag(1: k,:)";

fprintf(fid, Qutput table for betas \n\n');

fprintf(fid, nmean\t\tstd\t\tp(>0)\t\tnse\t\tIEF\t\tnr\t\tcd\n\n');
fprintf(fid,'%.3f\t9%. 3f\t9%0. 3f\t9%6. 3f\t%6. 3f\t%6. 3f\t%6. 3f\n', out);
fprintf(fid, '\n');

%i g2 stuff

out =kdi ag(k+1,:)";

fprintf(fid, Qutput table for sig2 \n\n');

fprintf(fid, nmean\t\tstd\t\tp(>0)\t\tnse\t\tIEF\t\tnr\t\tcd\n\n');
fprintf(fid," 9%.3f\t9%. 3f\t9%0. 3f\t9%6. 3f\t%6. 3f\t%6. 3f\t %6. 3f\ n', out);
fprintf(fid, '\n');

save c:\Kkl aus\ AAEC6564\ m ab\ wor ksp
\ nmod2bl ocki ng betalmat beta2mat beta3nat si g2mat
X1 X2 X3 Xvy;

finish = toc/60

fprintf(fid, Tine elapsed in mnutes \n\n');
fprintf(fid, %.3f\n',finish);

st=fclose(fid);

if st==0;
di sp(' File closed successfully');
el se;




warni ng(' Problemw th closing file');
end;

Published with MATLAB® R2022b




